Pt [GeV]

(17 apl [GeV 1]

a7 [pb/GeV]

[0,10]
[10,20]
20, 40]
[40, 60]
(60, 100]
100, 150]
150, 400]

(1.691 + 0. 032 L0, 068) x10~3
(4.682 £ 0.049 + 0.109) x 1073
(7.593 + 0.042 + 0.076) x1073
(1.094 + 0.005 + 0.009) x10~2
(9.554 4+ 0.028 + 0.05) x10~3
(3.04 £ 0.016 + 0.031) x1073
(1.259 + 0.015 + 0.043) x10~*

(1.913 + 0. 036 L0, 155) x10~2
(5.297 + 0.057 £ 0.371) x 1072
(8.591 + 0.052 + 0.562) x 1072
0.124 + 0.001 + 0.008
0.108 &= <1073 £ 0.006
(3.44 4+ 0.019 4 0.21) x10~2
(1.425 + 0.017 £ 0.108) x1073



